
Klettergerüst
Aufbauanleitung

Climbing frame
Assembly manual

Struttura per arrampicata
Manuale di montaggio

DE

EN

IT

TM



Willkommen in der Cliff-Familie!

Wir freuen uns, dass Du Dich für ein Cliff Indoor-Klettergerüst entschieden hast.
Unsere Klettergerüste aus Holz haben wir als Eltern entwickelt, um die gesunde Entwicklung von
Kindern zu fördern und natürliche Materialien im Kinderzimmer zu nutzen.

Wir sind überzeugt, dass Du und Dein Kind viel Freude mit dem Cliff-Klettergerüst haben werdet.
Es fördert schon früh die Geschicklichkeit, Koordination, Kraft und Ausdauer Deines Kindes und
trägt zu seiner körperlichen und geistigen Entwicklung bei.

Das Cliff-Klettergerüst bringt Deinem Kind jeden Tag Spaß und Begeisterung.

Warnung:

Wir empfehlen die Nutzung des Klettergerüsts für Kinder ab 18 Monaten.
Das Klettergerüst ist ausschließlich für den Gebrauch in Innenräumen vorgesehen.
Es sollte immer unter der Aufsicht eines Erwachsenen verwendet werden, um das
Risiko von Stürzen zu vermeiden. Die maximale Belastbarkeit beträgt 90 kg.

Vorsicht:

Verwende beim Aufbau weder einen Hammer noch Elektrowerkzeuge, da diese das
Klettergerüst beschädigen könnten. Für die Erstmontage benutze bitte den im Lieferumfang
enthaltenen Inbusschlüssel. Stelle das Klettergerüst nicht auf Beton, Asphalt oder andere
harte Oberflächen.

Wir empfehlen, das Klettergerüst zu zweit aufzubauen: Eine Person hält die Teile, während
die andere die Schrauben festzieht.

5 Spielpositionen



Warning:

We recommend using the climbing frame for children aged 18 months and older.
The climbing frame is exclusively designed for indoor use. It should always be used under
adult supervision to prevent the risk of falls. The maximum load capacity is 90 kg.

Caution:

Do not use a hammer or power tools during assembly, as these may damage the climbing frame.
Use the Allen key included in the package for the initial assembly. Do not set up the climbing frame
on concrete, asphalt, or other hard surfaces.

We recommend assembling the climbing frame with two people: One person holds the parts
while the other tightens the screws.

Welcome to the Cliff Family!

Thank you for choosing our Cliff indoor climbing frame. As parents, we created our wooden
Cliff climbing Frames to support the healthy development of children while ensuring the use of
natural, child-friendly materials in the playroom.

We are confident that you and your child will love the Cliff climbing frame and share countless
joyful moments playing and exploring together. Using a Cliff climbing frame from an early age
supports your child’s coordination, endurance and strength, developing physical and mental Health.

Cliff climbing frames are designed to bring happiness and excitement to every single day through
simple, fun, and engaging activities.

5 playing positions



Benvenuto nella famiglia Cliff!

Siamo lieti che tu abbia scelto una struttura per arrampicata Cliff da interno. Le nostre strutture in
legno sono state progettate da noi come genitori, con l’intento di favorire lo sviluppo sano dei
bambini e di portare materiali naturali e sicuri nella cameretta.

Siamo certi che tu e tuo figlio amerete la struttura per arrampicata Cliff e condividerete tanti
momenti speciali di gioco e scoperta. Fin dalla tenera età, giocare con una struttura Cliff aiuta a
migliorare la destrezza, la coordinazione, la forza e la resistenza, contribuendo in modo
significativo allo sviluppo fisico e mentale di tuo figlio.

Ogni giorno, la struttura per arrampicata Cliff regalerà a tuo figlio gioia ed entusiasmo.

Avvertenza:

Consigliamo l'uso della struttura per arrampicata per bambini dai 18 mesi in su. La struttura è
progettata esclusivamente per l’uso in ambienti interni. Deve sempre essere utilizzata sotto la
supervisione di un adulto per prevenire il rischio di cadute. La capacità massima di carico è di 90 kg.

Attenzione:

Non utilizzare martelli o utensili elettrici durante il montaggio, poiché potrebbero danneggiare la
struttura. Per l'assemblaggio iniziale, utilizza la chiave a brugola inclusa nella confezione.
Non posizionare la struttura per arrampicata su cemento, asfalto o altre superfici dure.

Consigliamo di montare la struttura in due persone: una tiene i pezzi in posizione, mentre l'altra
stringe le viti.

5 posizioni di gioco



1

2

3
4

5

6

7

8

9

1. Seilwand

2. Drei-Sprossen-Leiter

3. Linker unterer Balken

4. Elf-Sprossen-Leiter

5. Rechter unterer Balken

6. Vertikaler Pfosten

7. Tafeln mit Logo

8. Basisbalken

9. Obere Leiter

Teileliste

Anmerkung: Alle 4 Leitern sind werkseitig vormontiert.

Anmerkung: Bitte verzichten Sie auf den Einsatz von
Elektrowerkzeugen und vermeiden Sie übermäßige Kraftanwendung
beim Festziehen, um Beschädigungen an den Komponenten 
zu vermeiden.

1 x 4mm Inbusschlüssel

(E) 3 x 50mm M6.3 Schrauben

(F) 4 x 70mm M7 Schrauben

(B) 9 x 20mm M6 Verbindungsschrauben

(С) 2 x 30mm M6 Verbindungsschrauben

(D) 4 x 60mm M6 Verbindungsschrauben

(A) 15 x 30mm M6 Gewinde

Seite / Page / Pagina

1



1

2

3
4

5

6

7

8

9

1. Rope ladder

2. Three bars ladder

3. Left bottom beam

4. Eleven bars ladder

5. Right bottom beam

6. Vertical bar

7. Plates with logo

8. Base bars

9. Top ladder

Parts list

Note: All 4 ladders are factory pre-assembled.

Important note:
Do not use power tools or excessive force when tightening.
The kit does not include the Phillips screwdriver (PZ2)
which is required for the assembly.

1 x 4mm L-Shaped Hex key

(E) 3 x 50mm M6.3 screws

(F) 4 x 70mm M7 screws

(B) 9 x 20mm M6 Connecting screws

(С) 2 x 30mm M6 Connecting screws

(D) 4 x 60mm M6 Connecting screws

(A) 15 x 30mm M6 Connecting rods

Seite / Page / Pagina

2



1

2

3
4

5

6

7

8

9

1. Parete di corda

2. Scala a tre pioli

3. Barra in basso a sinistra

4. Scala a 11 pioli

5. Barra in basso a destra

6. Palo verticale

7. Tavole con logo

8. Barre di base

9. Scala superiore

Elenco delle parti

Nota: Tutte e 4 le scale sono preassemblate in fabbrica.

Nota importante:
Si prega di non utilizzare utensili elettrici e di evitare un’eccessiva
applicazione di forza durante il serraggio, per prevenire danni
ai componenti.

1 x 4mm Chiave a brugola

(E) 3 x 50mm M6.3 Viti

(F) 4 x 70mm M7 Viti

(B) 9 x 20mm M6 Viti di collegamento

(С) 2 x 30mm M6 Viti di collegamento

(D) 4 x 60mm M6 Viti di collegamento

(A) 15 x 30mm M6 Collegamento filettatura

Seite / Page / Pagina

3



Connect the rope ladder (part 1) and the ladder with 3 bars using 1 x 20mm (A+B) connecting
screw at their upper ends. Place the bottom ends of the already connected ladders into the
openings of the left bottom beam (3). Fix them in place with 2 x 50mm (E) screws as shown.

Use 1 x 20mm Connecting screw

Use 2 x 50mm screws

Step 1

Verbinde das Kletternetz (Teil 1) oben mit der 3-Sprossen-Leiter und einer 20 mm (A+B)
Schraube. Setze die unteren Enden in die Öffnungen des linken unteren Balkens (Teil 3) ein.
Befestige sie mit 2 x 50 mm (E) Schrauben wie gezeigt.

Schritt 1

Passaggio 1

Collega la rete da arrampicata (parte 1) in alto con la scala a 3 pioli utilizzando una vite da
20 mm (A+B). Inserisci le estremità inferiori nelle aperture della trave inferiore sinistra (parte 3).
Fissale con 2 viti da 50 mm (E) come mostrato.

Seite / Page / Pagina
4



Use 1 x 50mm screw

Place the 11-bar ladder (part 4) into the openings of the right bottom beam (part 5).
Connect the ladder with 1 x 50 mm (E) screw through the bottom beam from below as shown.

Step 2

Setze die 11-Sprossen-Leiter (Teil 4) in die Öffnungen des rechten unteren Balkens (Teil 5) ein.
Verbinde die Leiter mit 1 x 50 mm (E) Schraube von unten durch den Balken, wie gezeigt.

Schritt 2

Passaggio 2

Inserisci la scala a 11 pioli (parte 4) nelle aperture della trave inferiore destra (parte 5).
Collega la scala con 1 vite da 50 mm (E) da sotto attraverso la trave, come mostrato.

Seite / Page / Pagina

5



Use 2 x 70mm screw

Connect the assembled sides from Step 2 with the Base bar (part 8) using 2 x 70 mm (F) screws.
We recommend that one person holds the two assembled parts while a second person attaches
the base bar.

Step 3

Schritt 3

Verbinde die im vorherigen Schritt (Schritt 2) zusammengebauten Teile mit der Basisstange
(Teil 8). Verwende dazu 2 x 70 mm Schrauben (F).
Wir empfehlen, dass eine Person die beiden zusammengebauten Teile hält, während eine
zweite Person die Basisstange befestigt.

Passaggio 3

Collega le parti assemblate nel passaggio 2 alla barra di base (parte 8). Usa 2 viti da 70 mm (F).
Consigliamo che una persona tenga le due parti assemblate mentre un'altra collega la
barra di base.

Seite / Page / Pagina

6



Use 2 x 20mm Connecting screws

Use 2 x 70mm screws

Connect the logo plate (Part 7) to the already assembled parts from Step 3 using 2 x 20 mm
(A+B) screws and 2 x 70 mm (F) screws. See the picture for details.

Step 4

Schritt 4

Verbinde die Logo-Tafel (Teil 7) mit den bereits in Schritt 3 aufgebauten Teilen.
Benutze 2 x 20 mm (A+B) Schrauben und 2 x 70 mm (F) Schrauben.
Sieh dir das Bild zur Orientierung an.

Passaggio 4

Collega la piastra con il logo (parte 7) alle parti già assemblate nel Passaggio 3.
Usa 2 viti da 20 mm (A+B) e 2 viti da 70 mm (F). Consulta l'immagine per orientarti.

Seite / Page / Pagina

7



Use 1 x 20mm Connecting screw

Step 5

Place the second Base bar (Part 8) on the opposite side. Connect it to the 3-bar ladder (Part 2)
using 1 x 20 mm (A+B) screw. See the picture.

Schritt 5

Platziere die zweite Basisstange (Teil 8) auf der gegenüberliegenden Seite. Verbinde sie mit
der 3-Sprossen-Leiter (Teil 2). Benutze 1 x 20 mm (A+B) Schraube.
Sieh dir das Bild zur Orientierung an.

Passaggio 5

Posiziona la seconda barra di base (parte 8) sul lato opposto. Collega la barra alla scala a 
3 pioli (parte 2). Usa 1 vite da 20 mm (A+B). Consulta l'immagine per orientarti.

Seite / Page / Pagina
8



Use 1 x 20mm Connectring screw

Step 6

Place the end of the vertical bar (Part 6) into the right bottom beam (Part 5) as shown
in the picture. Then connect it to the Base bar (Part 8) using 1 x 20 mm (A+B) screw.
This screw needs to be tightened firmly.

Schritt 6

Setze das Ende der vertikalen Stange (Teil 6) in den rechten unteren Balken (Teil 5) ein, wie
im Bild gezeigt. Verbinde sie anschließend mit der Basisstange (Teil 8) mithilfe einer
1 x 20 mm (A+B) Schraube. Diese Schraube muss fest angezogen werden.

Passaggio 6

Collega l'estremità della barra verticale (parte 6) al trave inferiore destro (parte 5), come
mostrato nell’immagine. Fissala poi alla barra di base (parte 8) utilizzando 1 vite da 20 mm
(A+B). Questa vite deve essere serrata saldamente.

Seite / Page / Pagina

9



Use 4 x 20mm Connecting screws.

Step 7

Connect the second logo plate (Part 7) to the opposite side of the first logo plate, as shown
in the picture. Use 4 x 20 mm (A+B) screws. Do not overtighten the screws - tighten just
enough to hold the parts in place.

Schritt 7

Verbinde jetzt die zweite Logo-Tafel (Teil 7) wie im Bild gezeigt. Verwende 4 x 20 mm (A+B)
Schrauben. Ziehe die Schrauben nur so fest an, dass die Teile an ihrem Platz gehalten werden.

Passaggio 7

Collega ora la seconda piastra con il logo (parte 7) come mostrato nell'immagine. Usa 4 viti
da 20 mm (A+B). Stringi le viti solo quanto basta per mantenere le parti al loro posto.

Seite / Page / Pagina

10



Use 2 x 30mm Connecting screw

Step 8

Connect the top ladder (Part 9) using 2 x 30 mm (A+C) screws into their threads, as shown
in the picture, through the vertical bars of the net and the 11-bar ladder. Please do not tighten
the screws completely.

Schritt 8

Verbinde die obere Leiter (Teil 9) mit 2 x 30 mm (A+C) Schrauben in ihre Gewinde, wie im Bild
gezeigt, durch die vertikalen Stangen des Kletternetzes und der 11-Sprossen-Leiter.
Bitte ziehen Sie die Schrauben nicht fest.

Passaggio 8

Collega la scala superiore (Parte 9) utilizzando 2 viti da 30 mm (A+C) nei loro filetti, come
mostrato nell'immagine, attraverso le barre verticali della rete da arrampicata e della scala
a 11 pioli. Per favore, non stringere completamente le viti.

Seite / Page / Pagina

11



Use 4 x 60mm Connecting screws

Step 9

Now take the last 4 screws (60 mm A+D) and tighten them as shown in the picture. Once these
screws are tightened, please go back and tighten all the other screws from the previous steps.
Congratulations, your climbing frame is now ready to use!

Schritt 9

Nimm jetzt die letzten 4 Schrauben (60 mm A+D) und ziehe sie fest, wie im Bild gezeigt.
Nachdem diese Schrauben angezogen sind, ziehe bitte alle anderen Schrauben aus den
vorherigen Schritten fest. Herzlichen Glückwunsch, dein Klettergerüst ist nun einsatzbereit!

Passaggio 9

Ora prendi le ultime 4 viti (60 mm A+D) e stringile come mostrato nell'immagine. Una volta
serrate queste viti, stringi tutte le altre viti dei passaggi precedenti. Congratulazioni, la tua
struttura da arrampicata è pronta per l'uso!

Seite / Page / Pagina
12



Lebenslange Garantie auf Dein Cliff-Klettergerüst
Wir stehen für Qualität und möchten Dir ein Höchstmaß an Sicherheit bieten. Deshalb gilt:
Nach Ablauf der gesetzlichen Gewährleistungsfrist von 2 Jahren erhältst Du eine lebenslange
Garantie auf die Holzstruktur Deines Cliff-Klettergerüsts.

Diese Garantie zeigt unser Engagement für Langlebigkeit und Haltbarkeit. Sie bezieht sich auf
die wesentlichen Bestandteile der Konstruktion und soll Dir und Deinen Kindern über viele
Jahre Freude bereiten.

Garantiebestimmungen
Die lebenslange Garantie bezieht sich ausschließlich auf die Holzstruktur Deines Klettergerüsts
und tritt nach Ablauf der gesetzlichen Gewährleistungsfrist in Kraft. Andere Bestandteile wie
Matten, Kletterseile, Zubehör oder Verbindungselemente fallen unter die gesetzliche Gewährleistung.

Wichtig: Damit die Garantie greift, beachte bitte Folgendes:

Schäden müssen vorab schriftlich per E-Mail gemeldet werden. Füge Fotos und eine Beschreibung
des Defekts bei. Reparaturen oder ein Austausch dürfen nur nach unserer schriftlichen Zustimmung
durchgeführt werden.
Hinweis: Die lebenslange Garantie gilt ausschließlich für Dich als Erstkäufer und ist nicht übertragbar.

Die Garantie deckt keine Schäden, die entstehen durch:
Unsachgemäße Nutzung, z. B.:

Übermäßige Belastung oder unsachgemäße Nutzung, die auf Gewaltanwendung zurückzuführen ist.
Nutzung im Freien oder unter extremen Wetterbedingungen und Temperaturen.
Vernachlässigung, z. B.:

Fehlende Pflege oder falsche Lagerung, die Schäden begünstigt.
Transportschäden:

Transportschäden müssen sofort gemeldet und direkt beim Fahrer auf seinem Gerät vermerkt werden.
Andernfalls könnte es sein, dass die Reklamation nicht berücksichtigt wird. Bitte überprüfe Dein Paket
auf äußerliche Schäden, bevor Du es entgegennimmst und unterschreibst.
Normale Abnutzung, die mit der Zeit auftreten kann:

Farbveränderungen oder Abnutzungsspuren im Holz durch den natürlichen Alterungsprozess.
Kleine Dellen, Farbveränderungen, Splitter oder andere kosmetische Schäden, die mit dem beigefügten
Schleifpapier leicht entfernt werden können.
Nicht genehmigte Änderungen oder Modifikationen, z. B.:

Anbringen von Zubehör oder Teilen, die nicht vom Hersteller zugelassen sind.

Exzellenter Kundenservice
Wir bieten Dir einen exzellenten Kundenservice, der immer bereit ist, Deine Fragen und
Anmerkungen zu beantworten. Bitte schreibe uns, wenn Du Fragen hast oder weitere
Informationen benötigst, unter: info@cliff-toys.com

Lebenslange Garantie

TM

Mit freundlichen Grüßen,

Maximilian Schneider



Lifetime Guarantee on Your Cliff Climbing Frame
We stand for quality and want to offer you maximum safety. That's why, once the statutory warranty
period of 2 years has expired, you receive a lifetime guarantee on the wooden structure of your Cliff
climbing frame.

This guarantee demonstrates our commitment to longevity and durability. It applies to the essential
components of the structure and should give you and your children many years of enjoyment.

Warranty Conditions
The lifetime guarantee applies exclusively to the wooden structure of your climbing frame and takes
effect once the statutory warranty period has ended. Other components, such as mats, climbing ropes,
accessories, or connecting elements, are covered by the statutory warranty.

Important: Please note the following for the guarantee to apply:

Damage must be reported in advance in writing by email. Include photos and a description of the defect.
Repairs or replacements may only be carried out with our written consent.
Note: The lifetime guarantee applies exclusively to you as the original purchaser and is non-transferable.

The Warranty Does Not Cover Damage Caused By:
Improper Use, e.g.:

Excessive load or improper use resulting from the use of force.
Outdoor use or use in extreme weather conditions and temperatures.
Neglect, e.g.:

Lack of care or incorrect storage that favours damage.
Transport Damage:

Transport damage must be reported immediately and noted directly to the driver on their device.
Otherwise, we may not be able to process your claim.
Please check your parcel for external damage before accepting and signing for it.
Normal Wear and Tear That May Occur Over Time:

Colour changes or signs of wear in the wood due to the natural ageing process.
Small dents, colour changes, chips, or other cosmetic damage that can be easily removed with
the sandpaper provided. Unauthorised Changes or Modifications, e.g.:

Attaching accessories or parts that are not authorised by the manufacturer.

Excellent Customer Service
We offer excellent customer service and are always ready to answer your questions and comments.
Please write to us if you have any questions or require further information at: info@cliff-toys.com

Lifetime Guarantee

TM

Yours sincerely,

Maximilian Schneider



Garanzia a vita sul tuo struttura per arrampicata Cliff
Crediamo nella qualità dei nostri prodotti e vogliamo offrirti la massima sicurezza.
Per questo, dopo la scadenza del periodo di garanzia legale di 2 anni, riceverai una garanzia a vita
sulla struttura in legno del tuo struttura per arrampicata Cliff.

Questa garanzia riflette il nostro impegno per la durata e l'affidabilità. Si applica ai componenti principali
della struttura, garantendoti molti anni di divertimento per te e la tua famiglia.

Condizioni di Garanzia
La garanzia a vita si applica esclusivamente alla struttura in legno del tuo struttura per arrampicata e
entra in vigore una volta terminato il periodo di garanzia legale. Altri componenti, come tappetini, corde
da arrampicata, accessori o elementi di collegamento, sono coperti dalla garanzia legale.

Importante: Per far valere la garanzia, tieni presente quanto segue:

I danni devono essere segnalati in anticipo via e-mail, includendo foto e una descrizione dettagliata del
difetto. Riparazioni o sostituzioni possono essere effettuate solo con il nostro consenso scritto.
Nota: La garanzia a vita è valida esclusivamente per te come acquirente originale e non è trasferibile.

La Garanzia Non Copre Danni Causati Da:
Uso improprio, ad esempio:

Carichi eccessivi o utilizzo scorretto derivante da un uso forzato.
Uso all'aperto o esposizione a condizioni climatiche estreme e temperature elevate o basse.
Negligenza, ad esempio:

Mancata manutenzione o conservazione inadeguata che favorisce danni.
Danni durante il trasporto:

I danni da trasporto devono essere segnalati immediatamente e annotati direttamente sul dispositivo
del corriere. In caso contrario, potremmo non essere in grado di elaborare il tuo reclamo.
Controlla attentamente il pacco per verificare eventuali danni esterni prima di accettarlo e firmarlo.
Normale usura nel tempo:

Cambiamenti di colore o segni di usura sul legno dovuti al naturale processo di invecchiamento.
Piccole ammaccature, variazioni di colore, schegge o altri danni estetici che possono essere facilmente
rimossi con la carta vetrata fornita. Modifiche o alterazioni non autorizzate, ad esempio:

L'installazione di accessori o parti non approvati dal produttore.

Servizio Clienti Eccellente
Il nostro servizio clienti è sempre a tua disposizione per rispondere alle tue domande o richieste.
Scrivici all’indirizzo e-mail info@cliff-toys.com se hai bisogno di ulteriori informazioni o assistenza.
Saremo felici di aiutarti!

Garanzia a vita

TM

Cordiali saluti,

Maximilian Schneider



Welcome to the Cliff Family!

We are sure this product will bring countless smiles and happy moments to you and your family.
As parents ourselves, we created Cliff because we believe our children deserve the best, and
our mission is to inspire active and happy children in every home.

If you ever need us, we're here for you. Just reach out at info@cliff-toys.com.

With love,
Your Cliff Family

Willkommen in der Cliff-Familie!

Wir sind uns sicher, dass dieses Produkt euch unzählige glückliche Momente und
Lächeln bereiten wird. Als Eltern haben wir Cliff entwickelt, weil wir glauben, dass unsere
Kinder das Beste verdienen. Unsere Vision ist: aktive und glückliche Kinder in jedem Zuhause.

Falls Du uns brauchst, sind wir für Dich immer da. Kontaktiere uns unter: info@cliff-toys.com.

Mit viel Liebe,
Die Cliff Familie

Benvenuti nella famiglia Cliff!

Siamo certi che questo prodotto porterà un’infinità di sorrisi e momenti felici a voi e alla vostra
famiglia. Come genitori, abbiamo creato Cliff perché crediamo che i nostri bambini meritino il
meglio. La nostra missione è ispirare bambini attivi e felici in ogni casa.

Se avete bisogno di noi, siamo sempre a vostra disposizione.
Potete contattarci all’indirizzo info@cliff-toys.com.

Con affetto,
La vostra famiglia Cliff

DE

EN

IT

TM


	Page 1
	Page 1
	Page 1
	Page 1
	Page 1
	Page 1
	Page 1
	Page 1
	Page 1
	Page 1
	Page 1
	Page 1
	Page 1
	Page 1
	Page 1
	Page 1
	Page 1
	Page 1
	Page 1
	Page 1

